Slide table cylinder——HGS Series

Compendium of HGS Series

Stainless steel rail ——— Connecting pin

Rail is made of special stainless steel, high rigidity. Connecting pin is made of high strength alloy steel
with impact resistance and long service life.

Adjustable stroke equipment

Adjustable stroke equipment
is available, and can directly
replace the oil shock absorber.

A

Z With sensor groove

Sensors can be installed easily at
cylinder surrounding grooves.

Precision guidance

The guide rail has excellent straightness
and non-rotating accuracy.

—— Positioning pin hole

Body and slider with positioning pin hole which can improve the precision
and the consistency of repeated dismounting and positioning.

Installation and application A

1. Dirty substances in the pipe must be eliminated before cylinder is connected with pipeline to prevent the entrance of impurities into the cylinder.
2. The medium used by cylinder should be filtered to 40um or below.
3. Anti-freezing measure shall be adopted under low temperature environment to prevent moisture freezing.
4. If the cylinder is dismantled and stored for a long time, pay attention to conduct anti-rust treatment to the surface.
Anti-dust caps shall be added in air inlet and outlet ports.

V4! 158



Slide table cylinder AIl'TAL

HGS Series

Specification
Bore size(mm) 6 ‘ 8 ‘ 10 ‘ 12
Acting type Double acting
Fluid Air(to be filtered by 40um filter element)
Operating ©6/8/10 36~100psi(0.25~0.7MPa)
pressure (®©12 29~100psi(0.2~0.7MPa)
Proof pressure 175psi(1.2MPa)
Cushion type Bumper ‘ Bumper or shock absorber
Temperature -20~70°C
Lubrication Not required
Speed range 50~500mm/s
Stroke tolerance 05
Product feature Sensc:r switches DMSH\EMSH [Note1]
Port size M3x0.5 M5x0.8
1.Rail is made of special stainless steel, with high rigidity, Note) Refer to P362 for detail of sensor switch.
corrosion resistance.
2.Connecting pin is made of high strength alloy steel with impact Stroke
resistance and long service life. ——
3.Adjustable str.oke equipment is available, and can directly Bore size (mm) Standard stroke (mm) Max.std stroke
replace the oil shock absorber.
4.The guide rail has excellent straightness and no turning accuracy. 6 5 10 10
5.Sensors can be installed easily at cylinder surrounding grooves. 8 510 15 20 20
6.Body and slider with positioning pin hole which can improve the 10 510 15 20 20
precision and the consistency of repeated dismounting and positioning. 12 510 15 20 25 25
[Note] Consult us for non-standard stroke.
Ordering code
H(i‘-S 19 x 1L5 § .f
DRVRONOLO),
[
®Model ®@Bore size ®Stroke @Magnet ®Stroke adjustment device

Blank: Without stroke adjustment device

6 5 10 Blank: Without magnet

. . 5 10 15 20 S: With magnet J: With stroke adjustment device
HGS: Slide table cylinder
10 5 10 15 20 [Note]
12 5 10 15 20 25

[Note] Stroke adjustment device of ®101®12 can be replaced by shock absorber.

Ordering code of accessories

F-HGS 10x 15 H
DB a) A
1) (2 3 @4

0 B ¢

®Model @Bore size ®Stroke @ Accessories type
6 5 10 H: Sensor fixed seat J: Stroke adjusting screw
5 10 15 20 package package
HGS: Slide table cylinder 10 5 10 15 20
12 5 10 15 20 25
Matching table
Sensor
Ordering Stroke (mm)
code 5 10 15 20 25

6 F-HGS6X5H F-HGS6X10H
Bore | 8 F-HGS8X5H F-HGS8X10H F-HGS8X15H F-HGS8X20H
size | 10 F-HGS10X5H F-HGS10X10H F-HGS10X15H F-HGS10X20H

F-HGS12X5H F-HGS12X15H F-HGS12X20H F-HGS12X25H
Stroke adjusting screw
Ordering Stroke (mm)
code 5 10 15 20 25

6 F-HGS6X5J F-HGS6X10J
Bore | 8 F-HGS8X5J F-HGS8X10J F-HGS8X15J
size | 10 F-HGS10X5J F-HGS10X10J

F-HGS10X10J F-HGS10X15 F-HGS10X15J

A



Slide table cylinder

AIl'TAL

HGS Series

Production weight table

Table precision

Unit: g
Sensor fixed | Stroke adjusting screw package weight
Model Body seat . T :
ode weight package Single adjusting Single shock Other
weight screw absorber |accessories
HGS6X5 116.1 14.25 2.4 - 11.61
HGS10X5 152.3 19.05 2.4 - 11.61
HGS8X5 | 133.01 14.05 2.4 - 10.34 [Unit: mm]
HGsaxi0 | 167.46 18.54 04 : 10.34 Model HGS6 HGS8 HGS10 HGS12
. C surface to Asurface 0.02
HGS8X15 | 207.07 23.35 2.4 - 10.34 Parallelism
D surface to B surface 0.02
HGS8X20 | 239.37 28.16 2.4 - 10.34 Parallelism|C surface to A surface 0.004
HGS10X5 | 194.26 15.91 6.8 16 27.36 of walking D surface to B surface 0.004
HGS10X10 | 248.98 19.12 6.8 16 26.2 Dimensional tolerance of E +0.05
HGS10X15 | 303.39 24 6.8 16 21.8 Dimensional tolerance of F +0.05
HGS10X20 | 352.05 28.93 6.8 16 21.8
HGS12X5 | 291.01 21.64 6.8 16 27.36
HGS12X10| 318.12 21.64 6.8 16 26.2 Max. allowable load
HGS12X15 | 356.79 27.63 6.8 16 21.8 [Unit : kg]
HGS12X20 | 445.92 33.25 6.8 16 21.8 Model HGS6 HGS8 HGS10HGS12
HGS12X25 | 491.34 38.87 6.8 16 21.8 No stroke adjustmentdevice | 0.3 | 0.3 0.8 1.2
Example : With stroke adjustment device| 0.2 0.5 0.8 1.2
HGS10X15SJ=Body weight+Sensor fixed seat package weight+Single adjusting screw With shock absorber R R 16 2.0

weithgX2+Other accessories weight =303.39+24+6.8X2+21.8=362.79(9)

Inner structure and material of major parts

Max. allowable torque

Mp My
M 1M
)
@ L L
Max. Allowable torque (N.m)
2 10 @% @@ Model [pjtch moment| Yaw moment | Roll moment
Mp My Mr
| - ==
(= HGS6X5
N N PR 042 0.42 0.87
o &[ HGS6X10
© T RESISEN HGS8X5
—_— 0.42 0.42 0.87
45 a9 49 @9 a2 ® HGS8X10
HGS8X15
1 1.7 1.7 1.8
NO. Item Material NO. Item Material HGS8X20
1 Body Stainless steel| 11 |Hexagon socket head screws| Alloy steel HGS10X5 12 14 23
2 Slide table Stainless steel| 12 Magnet holder Plastic HGS10X10 ) ' ’
3 Adjustable screw  |Stainless steel| 13 Magnet Rare earths HGS10X15
———] 2.8 3.1 3.3
4 Bumper . NBR 14 Scr.ew Allloy steel HGS10X20
5 Hex nut Stainless steel| 15 Pin Stainless steel HGS12X5
6 | Middle stopping block | Cutting steel | 16 Piston Stainless steel m 24 29 47
7 |Hexagon sockethead screws| Alloy steel |17 Piston packing NBR — ’ ' ’
8 End stopping block Aluminum alloy | 18 End cover Stainless steel HGS12X15
9 |Hexagon sockethead screws| Alloy steel |19 Oring NBR HGS12X20 6.5 77 73
10 Sensor fixed rail Aluminum alloy 20 Cclip Spring steel HGS12X25

V.




Slide table cylinder AIl'TAL

HGS Series

Table deflection

Table deflection due to pitch moment Table deflection due to yaw moment Table deflection due to roll moment
A
F A F A
F
1o | off O
' O
O | [
—
° o o ° o ol I©
L L
HGS6 L=80mm HGS6 L=80mm HGS6 L=80mm
T T T T T I T T T T T T
| |
005k - _0.05F ] 0.05| 44 L
E i E L £ ]
E0.04***ﬂ‘***“r***r**ﬂ‘** E0.04f —— - E0.04f —— - —a oo
~ | I ! |
5 0.03————3———%———%—7#7 £ 0. 03777737”7}”73”77;”77 5o0. 03—————3————3————3————3——
§0.02f -t So. 0277”}7”4:”7‘#”7}”” 80020~ — oo
2 | [ I
g 0.0177:74{”}7”j:ﬁ B 0.01;1—7/747%77—17—77 3 0.01%7%7”#—
| I I |
| 1 1 | | | | L | | | |
0 10 20 30 40 0 10 20 30 40 0 10 20 30 40
Load N Load N Load N
HGS8 L=80mm HGS8 L=80mm HGS8 L=80mm
T T T T T T T T
| | | | | | |
005 ~= ==t ———F——-— —~0.05 —~0.05 ~~ T T
€ I I I I £ € I | I I
50.04”’4‘”’T”’f”j” £0.04 é0.04’***T***T****}****r’
§0.08F ~— -~ 0.03 g0.037—77—‘7—77}”—7}7”—}”
= HG88X5 | ! = = HGS8X5& \ |
30.02*;@*58*)(1 *T—rgggxgsz $0.02 80.0255s8x70 | #GSSX‘r
= I HGS8X20 = = I HGSBXZlD
3 0.01%7777— 2 0.01 8001 1=
I | I | | | | |
0 20 40 60 80 0 0 20 40 60 80
Load N Load N Load N
HGS10 L=100mm HGS10 L=100mm HGS10 L=100mm
T T T T T T T T T T
| | | | | | | ! | ! | ' |
0.05[ ——~=——t-——F-—-—1 ,_\0.08*774;77}77*4;77}***4; AO.OS****+***ﬁ****}****k*
€ I I I I IS I ! | ! I € | I
£0.04p =y 006 -t £0.04 I
50.03-HG10X8& || s s £0.03 ‘
2 HGS10X10 H(Esm‘m ; So.04 Hesmx,@g‘ §
$0.02 S S
T % 0.02 5
B o001 2 g
| L
0 0 20 40 60 80 10(
Load N Load N Load N
HGS12 L=100mm HGS12 L=100mm HGS12 L=100mm
T T T T T T T T T T
I I I I ! | I ! I I
2008~ _008[ i _00s— b
€ | | | € | } | | € | | |
E004 hGgaxs-l || Lo.06r EO004 T
€0.03f -HE$12X%151-—— -1~ c ! ! ! € 0.03f - - - HGS12X5+-——— -1
j Has12x24s 20.04} HGS—TIQXEY"LH‘GSM 2 HGS12X15 [
0002—777 - "H@stch 8 HGS12X1 \Hesnzxz | 8 0.02r—————-—=2 fosT2x208
% 0.02 5 HGS12X25
% 0.01 3 o S ———
| | | I | |
0 50 100 150 0 0 50 100 150
Load N Load N Load N




Slide table cylinder AIl'TAL

HGS Series

Installation and application

1. Cylinder can be mounted from 4 directions
2. When mounting an compact slide cylinder, screws of appropriate length should be used and tightened properly within the maximum tightening torque.
If screws are tightened beyond designed limits, malfunction may occur. If they are tightened insufficiently, it may result in sliding of falling off from its position.

Bolt Max. tightening Max. screw—in Bolt | Max. tightening Max. screw-in
Model used torque (Nm) depth(mm) oo Modsl used torque (Nm) depth(mm)
() HGS6 | M3x0.5 1.1 4.3 [¢) o HGS6 | M4x0.7 2.5 4.3
NN N DNNY HGS8 | M3x0.5 1.1 6.3 N > HGS8| M4x0.7 2.5 6.3
HGS10| M3x0.5 1.1 6 HGS10] M4x0.7 2.5 6
HGS12| M3x0.5 1.1 4.8 HGS12| M4x0.7 2.5 4.8
HGS12| M4x0.7 2.5 4.8 HGS12| M5x0.8 5.1 4.8
Note: M3X0.5 bolt is used for HGS12X5/10. Note: M4X0.7 bolt is used for HGS12X5/10.
Model Bolt |Max. tightening Max. screw—in Model Bolt |Max. tightening Max. screw-in
used torque (Nm) depth(mm) used torque (Nm) depth(mm)
HGS6 |M3x0.5 1.1 3 HGS6 | M2x0.4 0.26 4
HGS8 |M3x0.5 1.1 3 @@ HGS8 | M2x0.4 0.26 4
6@ HGS10|M3x0.5 1.1 3 HGS10| M3x0.5 1.1 3
HGS12|M3x0.5 1.1 4 HGS12| M3x0.5 1.1 4

Installation of Accessories

Locking torque shown in the following table is recommended to tighten the bolts, if bolts are tightened beyond designed limits, malfunction may occur;
If they are tightened insufficiently, it may result in sliding of falling off from its position.

Stroke adjustable device Sensor Seat
Port-adapter must be assembled correctly, leaks may happen if it is missing.

Magnet holder
BoltC

Adjustable bolt
Port-Adapter

End stopping block Sensor holder

BoltB Bolt D

Model BoltAused Maxlocking g, g, goq Maxlocking Model BoltCused Maxlocking ' g, p geq Maxlocking
torque(N.m) torque(N.m) torque(N.m) torque(N.m)
HGS6 |M2X0.4X10L 0.26 M2.5X0.45X10L 0.36 HGS6 | M2X0.4X6L 0.26 M2.5X0.45X10L 0.36
HGS8 |M2X0.4X10L 0.26 M3X0.5X10L 1.1 HGS8 | M2X0.4X6L 0.26 M3X0.5X10L 1.1
HGS10/M3X0.5X12L 1.1 M3X0.5X12L 1.1 HGS10/ M3X0.5X4L 1.1 M3X0.5X10L 1.1
HGS12/M3X0.5X12L 1.1 M3X0.5X12L 1.1 HGS12| M3X0.5X4L 1.1 M3X0.5X10L 1.1

Sensor seat can be installed on both sides of cylinder while stroke adjustment device can only be installed on the side with no ports.

About shock absorber

1. Shock absorbers are expendable. Promptly replace them when energy absorbing capacity decreases.

2. Never turn or adjust the screws on bottom of the shock absorber body. The screws are not for adjusting.
Otherwise would cause oil leakage.

3. Follow the table for tightening torque of shock absorber to lock nuts.

Shock absorber lock nut

Shock absorber Model Shock absorber Tightening torque
HGS6
— Without shock absorber
HGS8
HGS10 ACA0806-1N 1.67(N.m)
HGS12 ACA0806-1N 1.67(N.m)

The screws are not adjustable
otherwise would cause oil leakage.




Slide table cylinder AIl'TAL
HGS Series

Dimensions(HGS®6)
HGS6X5 008 5
@3 1o01dp:3 2-M3X0.5 3
3 © 15 w Inlet port ®3138% dp:319.5+0.05
(50 N .
I e 0 i
© 23 : 2.3 o o }
N # X} | @ ‘ 9 © - |
of © O ob <] | v © udll| PN =
™ A4 —y «— N| M < [Te) ~ I R
X 0 OF N —
e} <t —
<
B ~ < 4
x .l o ; 5 g °’ ©
2 g ; S -
© X | 348 o . S g
g' = S| dp3|_16 2-96 Countersink dp:3.5 g ° e
7o) o~ © M4X0.7Thru.hole &l X B
o = e ©
= s 3
~ o
=
1.520.1_ 200.02 %
@ s © g
Pl fn Y a— 3
% =
P. Qare Installation datum  [23#0.05 | ™
HGS6X5S HGS6X5J Adjustable range : 5mm
4—1<— H8
6 H3
wn
P 44 0.5 10 3 i
fan ‘“.i o fan )
| P © ) ® = |
lf)_ [Ie}
10| o 31 5 L o 4,5
2-M3X0.5
Inlet port <15, 8 9
5
HGS6X10 ®3 9% dp:3 2-M3X0.5 3
3 15 Inlet port ®3 1981 dp:319.5+0.05
< 1) 1w GI
© | ~ 1 o
- 2.3 2.3 = S
=S 5 [ o | °
o oY ol 4| | v © o
< Y = |
e I E : p
s m 2 P ~
B = 3| x 1 L © ]
o % o @ S il o /1@
2 S S| 31 3 S
S) 3 é dp:3 3 2-®6 Countersink dp:3.5 = z 3z
< - M4X0.7Thru.hole & s =
N < [Te} ©
b= <
N o
1.520.1_ 200.02 X
o
[QHF= w| 8 =
= ~
% =
P. Qare Installation datum | 23+0.05_| ™
HGS6X10S HGS6X10J Adjustablerange : 5mm of each sides.
Max56
6 1 H8
0
o 59 0.5 10 6 © H3
! 3| 3 <]
f DY —
L od [©) © ° o © B I
%) Fi
10| 2-M3X0.5 46 5 2 © 45
Inlet port o .
34 1 9

V4! TR



Slide table cylinder

AIl'TAC

HGS Series
Dimensions(HGS8)
HGS8X5 ®31§34dp:3 5.5
© 2-M5X0.8 3.5
3.5 - 15 - Inlet port 16 3.5+0.05
2.6 (& ©
S : 2.6 w0l 2 4 .
N D -~ . = ° ) Q 03 1501 dp:3
Q I N | W0 2] o
: . ® lo| @i ¥ ° " g Lo
“Ug < i
N < <
S G Py O1s 2=
3 S < i 3. Ei w &
g % 3| a8t A £ 3
x o © : 2-06 Countersink dp:3.5 & ©
e} = o| dp:3 = w©
= & % 16 M4X0.7Thru.hole alg
o~ = )
3 =
N
1.5+0.1 20+0.02
Q= | ©
2
HOT ta
P. Qare Installation datum | 234005
HGS8X5S HGS8X5J  Adjustable range : 5mm
1
6 H8
Yo}
o 45 0.5 10 3 0, H3
! ol
0 I © 20
l 2 21 o 0 © e |
10| w 2-M3X0.5 o
o Inlet port 31 5.5 20.5 |2.5 o 4.5
8.5 9
5.5
HGS8X10
31581 dp:3 2-M5X0.8 3.5
3.5 15 Inlet port 16 3.5¢0.05
[Te]
ol hl = 8 wl o
N 2.6 - 2.6 ol © o €
1o 1T Py o I o @ 3138 dp:3
4 0] ~l RS I o
N " | -~ >
& I S el o N o 8 : {M}—d
—e < i) ! < /e 5
Q| <=
< vl o ° ® %
o < o R b 1l X ~ 3
© = o *
“U? (% 0 I I n % < o
< = < 31004 4-06 Countersink dp:3.5 | & z
: x| 3% :
2 o S| dp:3 M4X0.7Thru.hole N
& <+ 16 g
™
=
1.5+0.1 20£0.02 o~
[Olg) 7= o w©
<
PG °°.¢ @
[o)} [}
P. Qare Installation datum |234+0.05
HGS8X10S HGS8X10J Adjustable range : 5mm of each sides.
Max56
6
10 6 H8
le]
5 59 0.5
© [te}
| 3| 3‘ Sy H3
O
~ o
RSP ? © © °- 5 O o &)
o)
i(ﬂ 5 2-M3X0.5 49 3.5 34 2 2 45
Inlet port 9

164




Slide table cylinder

AIl'TAC

HGS Series
5.5
HGS8X15
®3:334dp:3 2-M5X0.8 3.5
3.5 15 Inlet port 16 3.5+0.05
0
0 © B~ nlw
N S| o
N 2.6 i i By Of
o > 28t o
2] +0. .
° lo o o o e © o © ®3 1581 dp:3
A <
wn
© & & o8 ® R |
<t
(o] b ]
©| p =3 - L < /ﬁ ©|
< a 2 °
< < Y ‘ L < |
Qal N o L J Q ~
© EI 3 I\ N W
© & ) =1
S 3| st 4-06 Countersink dp:3.5 | & @
[sel
s dp:3| e M4X0.7Thru.hole i
< %
1.5:0.1 200.02 >
<
@l = —
O tolE
P. Qare Installation datum | 234005
HGS8X15S HGS8X15J Adjustable range : 5mm of each sides.
Max61
6 1
10 6 H8
e}
s 74 i 3 3 0 H3
! ol
yaAY ©
| © ©_° [ oo oo e 4]
T)
iﬂ 2l 2-M3x0.5 64 55 1a |11 | 14 |14 o 45
Inlet port
9
5.5
HGS8X20
®3 1831 dp:3 2-M5X0.8 3.5
- 3.5+0.05
3.5 \ 15 Inlet port 16
wn
9 - o ol
S 8 ] X lo | o
2.6 \} 2.6
o | D-| o ICl ©
| | |
© e JHeH < 9 S ¢ 3 e 3 188t dp:3
) S |
e N o R 8 4
< T
o 3| 5] (o]
P < « 9 < ©
: : P
N e}
< = 51 =
<1 3 2 ol , : 9
5 " 2 pill |(<]
Q’ < 4-96 Countersink dp:3.5 o o
g 31994 M4X0.7Thru.hole E 6
< dp:3 16 E
1.5+¢0.1 20+0.02 ~
@l  —
DE*EREE
P. Qare Installation datum | 234005
HGS8X20S HGS8X20J Adjustablerange : 5mm of each sides.
Max66
6
0 10 6 H8
o 89 0.5 3| 3 0 H3
! ol
4 © N
l i © © o1 o | O® @® 2 L
[{e}
Jﬂ o 2-M3X0.5 79 5.5 14_| _16 _| 14_| 11| 12 © 45
Inlet port 9

165




Slide table cylinder AIl'TAL

HGS Series

Dimensions(HGS10)
HGS10X5 ®3 3% dp:3 5.5
2-M5X0.8 3.5 3.540.05
3.5 :\‘?) 20 Inlet port 21 —
bl 5
Yiii 3.6 ol ~
& 3.6 ‘ sl = 4 .
? g7€ ] ° ®3 1501 dp:3
He o < iﬁtza o 15 9% ke @-¢
,E %
[T} 2 ™ v? @ 38
2 3| g g >4 s 72
3 B 2 S M T o
g X S| 3:88 & =
%) 3| 4 @ o]
s = S|P3 gy 2-06 Countersinkdp:3.5  =| S
M4X0.7Thru.hole S
&
0.5+0.1 27+0.02
s 5 28
N=tels
PH S 1318
P. Qare Installation datum | 28+0.05
HGS10X5S HGS10X5J  Adjustable range : 5mm
9
© H11
g 47 0.5 4 St H4
= O
) QF
" 2 ° | |
10| 2 . 33 | |55 L5 S8
2-M3X0.5 199 12
Inlet port
HGS10X10 5.5
3129 dp:3 3.5
s 0l01 20 2-M5X0.8 21 3.5+0.05
Inlet port
© 2
& v {E
c ‘ ) 3.6 Sl & 5 <
JFIE b s © 4 @381 dp:3
N[ O >
o N 4 L V@ @ o Q ==
N ol [© @57 N| © ™
- o g
52l i
5 o 45[ | o 5 %
5 o 1l 0 w2
o © b S @
s S || X|wn
< é +0.04) : . 2o 0
po S 3001 4-®6 Countersinkdp:3.56 =|o 3
s " |dp:3 3|0
3 <+|dp 21 M4X0.7Thru.hole o S
™
=
0.5£0.1  27+0.02 &
Sy 5 98
) I
P. Qare Installation datum | 28+0.05
HGS10X10S HGS10X10J Adjustable range : 5mm of each sides.
Max. 74
9
- s o5 - 9 o i
o 4 14 |4 Sy H4
0 > | 4 0
| 2 O O %I 9 © - | |
0|
102 49 5.5 7 of | 6]
2-M3X0.5 50 = "2
Inlet port 5

V4! 166



Slide table cylinder

AIl'TAC

HGS Series

HGS10X15

4-M3X0.5 dp:5

HGS10X15S

0.5

| ATTTAG

@)

e
0.5

HGS10X20
.35
[
N
|
(3]
©
©
Q|
kel
©
o
2
=
<
HGS10X20S
©
(=)
[ g a
[ (&) %
108

5.5
®3 1381 dp:3 3.5
20 °°. 2:-M5X0.8 21 3.540.05
w0 Inlet porf
i el o
l L
! ? i 3.6 °e D <
|  |© (o} °
Al o < ol © 4 ®3 381 dp:3
SIRNANKEEE: U
<
lo| ool ! g9  oHolld
2 i © 5
H il == e 5
g [73) T
— > ©®
e ©) 1L < ©
. G g 2
s | Tle
3:8:6% 4-®6 Countersink dp:3.5 &
dp:3| 21 M4X0.7Thru.hole &
<
(52}
0.5+0.1 27+0.02 =
<
[forie ol
[P] f Y g g
N
P. Qare Installation datum 28+0.05
HGS10X15J Adjustable range : 5mm of each sides.
Max79
9
H11
74 0.5 4 14 ©
4 oy H4
OXO; | | (ATTVAB
i - =
o) e ° i e &)
© P® 0@ - |
64 5.5 101l 2 ©
2-M3X0.5 20 115 218
Inlet port 12
5.5
®3 1594 dp:3 _a 135
s 20 2-M5X0.8 21 3.5:0.05
Inlet port
< ~ > u‘
v |l I — ©
NERN B S
o \k [2) 3.6
i - o g 2 4
olO1ol 9939 g o I¥- ®3 1351 dp:3
2 L ol o g
©
CES = " ] 3 @
o = °
= o 25 N
ro) ™ ct = © So
) 0 o %
o Q. > (3]
5 s g 3
el i =
E < IFS q ) & 2
Q 0
g | | g
© ge008 4-®6 Countersink dp:3.5 ©
- o
dp:3 21 M4X0.7Thru.hole é
0.5:0.1 _ _27+0.02 3
(Q}-fores =18
TN ol 2
[P] A
P. Qare Installation datum | 28+0.05
HGS10X20J Adjustable range : 5mm of each sides.
Max84
9
H11
89 0.5
4 14 ~_l4 i H4
OXO) j (AITTAR
© [©MLE o )
@@ - [ I
79 5.5 ©
2-M3X0.5 20 20 12 3 S 6
Inlet port 12

167




Slide table cylinder

AIl'TAC

HGS Series
Dimensions(HGS12)
5.5
sz ®3 1881 dp:3 5 MEXO0.8
O 25 ) - - 24 4.5+0.05
- ® Inletport \ | o
™) I N ©
o = =|[\s * ol
N 1 34@ N
_ : 4
© § O o ®3 1531 dp:3
S 31O 8 83 © S o @ ¢
@ o] — - 5
0 ¥ 5 =l =
a 3 i 2 1 ©
3. o R3 o % © "’ 1O
% S| s & - EIE
. - N © =
2 2l 3| T, 2-M4X0.7Thru.hole ©
& z X
=
0.5%0.1 32+0.02 h
EAC NS
N N
P ]
!
P. Qare Installation datum 33+0.05 2
HGS12X5S HGS12X5J Adjustablerange : 5mm
14 9
6.5 H11
3 59 9-5 4 pd H4
| AIPZAE u i | e Y
1) | | ]
(A ~ 8 o 7N
[ ® 0 © © ! S
10| @ 45 © 6
¢—\ o 45 6 50 " o~ 12
2-M5X0.8 5
Inlet port
HGS12X10 3198 dp:3 5.5
5.5 25 - 2-M5X0.8 * 24 4.5£0.05
Inletp
™ =
— i = ) ©
8 3.6 — 3.8 8
o ®-|o \ 4
,e||| o A o [[© 31831 dp:3
[le] < w o ©| © ©o| +—
S o P ‘ NN - g 3 o et B {
X\ E’Eli Qo
Ecd T b -
© = _g- < ~ _g- == |} ;;
a 0 ol i o [to) »] ™
B % B § Il % 0 @ 'é‘
) 3 2
= = X|3:88 \\R3 =3 45
g « =|dp:3| 24 2-M4X0.7Thru.hole N 2 —-—
& < x
™
=
0.5¢0.1 _ _320.02 3
ATTAB Y ©olb n
ol ©
o= ] 2
1 R
P. Qare Installation datum | 331005 @
+0. o
HGS12X10S HGS12X10J Adjustablerange : 5mm of each sides.
Max.74
< 59 0.5 : T 1
d . ©
o 4 14 4 al H4
AITIAR = 0@ = — —_— 9
() D % H qL = mi;i |
ﬁ) @ @ A ®, ®, A ! |_|_||
1ol o s s A AR
2-M5X0.8 50 o~ T
Inlet port 5

168




Slide table cylinder

AIl'TAC

HGS Series
HGS12X15 5.5
5. ®31394 dp:3 25 2 2-M5X0.8 24 4.5+0.05
Inlet por,
| y °
) ) 9
o = N I | = o
& - — ; 3.6 N o ©
2ol le|] &fol—— 4
Ny 7e||| O] A O © —n ®3 199 4p-3
© i o| | o o] I P9 +001 AP:
© W:H N | p
R % lo| etof! ! g e A e
Lollle= < S |[e= -
“tte P i 9 © £
o ) = -
s p| 7 B “llo | o
g S 5 :
° s L g ©
Y = N o
S S| 3188 2-08 Countersink dp:4.5 3
Q dp:3 24 M5X0.8Thru.hole S
= X
[ae)
¥ s
<
0.5+0.1 32+0.02
B i EE
1o
P. Qare Installation datum 33+0.05 g
HGS12X15S HGS12X15J Adjustable range : 5mm of each sides.
Max.79
9 9 H11
©
o 75 0.5 4 14 4., <l Ha
AITUAE | OXO ‘ | | ATVAE \C
© o
=T % o (@)
| ® © ) o066 L]
10 © \ 64 6 20 | 15 | 20 losl1s ot |6
o N
2-M5X0.8Inlet port '3
HGS12X20
25 5.5
5.5 ®3 3% dp:3 u‘_v I2n—|l\;lt5X0.8 24 4.5+0.05
—— B 5 [l ©
o 1] 1o =
) -~ 1 1 0|
5 PN . o o
o | et
79 4 ®3+B.D4d 3
1o @ oflQ 9% 3 © +0.01 AP!
- |5 i
& © &5 - @]
< X4
| O g o J
o i 0 o ©| 25
g g = 3
o° N B ) |
. =R g : T o | o
al Q b N
© ) 2 PS ©
fe} s
=) i 31004 ) S
é +0.01 2-®8 Countersinkdp:4.5 o
= dp:3| 24 M5X0.8Thru.hole >
~ =
<
0.5+0.1 32+0.02
ANEAR 0 @ 1o}
a2
C TS
& R
P. Qare Installation datum | 3340.05 @
+0. &

169




Slide table cylinder

AIl'TAC

HGS Series
HGS12X20S HGS12X20J Adjustable range : 5mm of each sides.
o o Hi
o 920 0.5 ol H4
ATTTAS i | | AR YC
@ 5 3
® _© ®_o" 20
\\4 | |
Jﬂ © 79 6 35 w© 6
o ol [ 12
2-M5X0.8Inlet port
HGS12X25
.5
_ 55 319 dp:3 25 © 2-M5X0.8 24 4,5+0.05
© Inlet porf
o DI
3 N g
| \b 3.6
‘ F ®
©) ‘ o g ©| %
lo @v ot 2 9 © 2z GW ®3 1§51 dp:3
| P I
3 o . 98 - J é
I ol
r o) \J
0|
© Z- o e ol
g i %
© 0 S i
10 < & & |
© & 1
g N : .
= 31881 2-98 Countersink dp:4.5 X
~ dp:3 24 M5X0.8Thru.hole =
<
0.5+0.1 32+0.02
ANMEAR o
Q N
f R P
[
P. Qare Installation datum 33+0.05 “
+0. o
HGS12X25S HGS12X25J
Adjustable range : 5mm of each sides.
Max.89
© 9 o H1
: 105 0.5 4 14 »ﬁ‘« d H4
o: ‘ pu
ATTAS OXO) ij AT (¢ \
(ER) - o T
®_© ©) o o® 56 AN
Jﬂg ‘ 94 6 20 25 ‘ 20 8.5 aH.le
12

2-M5X0.8Inlet port

170




